NO. HL-CN-DV(P)/DRV(P)...10 01/2017

01/08

4.2

R | R

~ ~
T / Al T3 s i
DV(P)/DRV(P)...10 &
®WE6E30
[E71Z 350bar
SREZE 375 L/min
Bf e
ThiEistEA 02 - AFERRE
B&/FS 02 - TR R
B S78E 03 - BRAERE
BARSEH 03 -ZEBISEEE T
MERERRLR 04 - M, AhE
TR 05-08

0417



02/08 1BIMAE | BRETH 537 [ BETS5AE | DV(P)/DRV(P)...10 &L

ThEEIREA
DV. DVP B¥537i@A1 DRV, DRVP EL& AT RIMR—HhLL i & T B AT TR R R B A,

TEXANEXZH®IER, EELNZEFARERRBATHR), ZANFEER, REEK, FANEE
BT B AR LARIEZ E M E BRI E R T E £,

il %éf

Dv. DvVP &

DRV. DRVP &!

DV, DVP & DRV, DRVP &

0418



iR [ BRTRE | 225 DV(P)/DRV(P)...10 B RETCH | {BILRE 03/08

B Si5EA
N EREIIE N
| SEERITIH
i =DV — -
e —DRV ThRic = THREBRES
VvV = A REE
ESUERE = Ftrie
iEE =p R
FTARIE = TR LY
&tz 6 =6 2 = IR
1_1:1:8 =8
BE 10 10 10= 10 &%)
wE 12 =12 1= Ml
8 16 =16 -= mEIRRE (TaR)
& 20 =20 s= EIRRE
#@iE 25 =25
&2 30 =30
BASH
&2 6 | 8 | 10 | 12 | 16 [ 20 ] 25 [ 30
BRATLEES bar 350
BREFBES bar 0.5
DV B! 012 |053 |07 0.9 15 25 |33 3.8
DVP E! 025 0.7 1.0 13 26 |43 [83 11.2
g= kg
DRV ! 013 |06 |07 0.9 15 (31 |41 5.3
DRVP & 026 |07 1.0 14 27 |47 |88 12.2
THENR Y ; BEERRE
TENRRESEE °C -20 E +80
HESEE mm?/s |2.8~500
REME AEEH
THRSRE SHREE S RESRIR: NAS 1638 9 4F 1SO 4406 20/18/15 4%

0419




04/08 1BIAE | BRETH

Ed1:

TR [ BRTRE | DV(P)/DRV(P)...10 B

(E1EF HLP46, 9,,=40°C £5°CEF:{)

WENBERE:AEB FEEETRUE LEE AP 5RE QXA
TROLE (B TRALE (B
02505115 225 3 3.5 4 025051152253 354 45555 6
00 / 100 / /
80 6.5
I/ AR iny/avi i
/ A s e s ZdN
40 - -
- 1 - T A
= // P = A A |
= 2 = 5 ¥ Z 2%
# A AT # Z
H 10 = #
5 — DVP/DRVP6 DVP/DRVP10
| — DV/DRV6 DV/DRV10
0 2 4 6 8 10 12 14 0 10 20 30 40 50 60 70 75
FEQ (L/min) — SREQ (L/min) =
TRALE (B TRLE (B
0251152 25 3 35 4 45 05051 152253354455 55 6 6.5 7158859
100 , I 100 I 95
80 5 80 .
10
| % W, ’
= 40 = 40
g - H A
W 20 ” w20
LT 7 LT
5
5 DVP/DRVP8 DVP/DRVP12
DV/DRV8 DV/DRV12
0 10 20 30 40 50 60 0 20 40 60 80 100 120 140
FEQ (L/min) — AEQ (L/min) —
TRALE (B¥) TROLE (B
000‘250‘511,522,533,5 4 45555 6 65 75 8 100 0505115253 354 45 5 55 6
80 | / A Jss 20 T 1 les
T/ 5 77 7
— wlll] g ol s
& & Z525%% %)
5 2% 5 s
1
B 10 ZZZd B 10 ZzZzad
=
5
5 DVP/DRVP16 DVP/DRVP20~30
DV/DRV16 DV/DRV20~30
0 25 50 75 100 125 150 175 0 50 100 150 200 250 300 350
FEQ (L/min) — FEQ (L/min) —
DRV &
WEHME: BEA SR BB AP-Q #hLk
600 T v
T
y 500 }ng l
— S 02 L—]
= 400 54 —
€ N
= 300 [/ o>
o N LT
%zm/ %EE}”——_
ES Q [
100 o DRV — DRV8
p—— — DRV6
0 2 4 6 8 10 12 14
EZ (bar) =

0420



i@ [ e | DV(P)/DRV(P)...10 B WETCH | {BILRE 05/08

TR (#fi: mm)
- EXNi@ (DV # ) ®D2 1E126-16
M
X il
I
o |
£ I
i NEEE
fé GB/T 810 _
e wtll g K |
e D4 P[3
— _ i N ) ®
\ g 4
) — d - (@)
|z
T T W
1.2
\‘ SW

iB1%20-30
Q AR A AR

T
L
L2

1 AT HER R A AR
2 B RER B RN

3 TRETEITH
4 TR X

=
=
=
=

BE| WXH |®D1|dD2 D3 D4 H1 | H2 | H3 | L1 | L2 |SW

6 20X20 15 | 24 | G1/8 | M10X1 M12X1.25 | 10 | 64 | 68 | 19.5| 39 9
8 | 34X30.5 | 20 | 29 | G1/4 | M14X15 M18X1.5 |[12.5| 83 | 90 | 32.5|63.5 12
10 [36.5%38.5| 20 | 29 | G3/8 | M18X1.5 M18X1.5 16 | 95 | 103 | 33 | 66 12
12 37X38 26 [37.5| G1/2 | M22X1.5 M22X1.5 |17.5/101.5(109.5| 44.5 | 80 14
16 45X52 26 |37.5| G3/4 | M27X2 M22X1.5 [22.5| 124 |134.5| 44.5 16
20 | 57X56.5 | 38 | 50 | G1 M33X2 M36X1.5 26 |162.5(178.5/49.5| 99 |19 18
25 63X66 | 38 | 50 |G11/4| M42X2 M36X1.5 30 | 167 | 186 | 54.5| 109 | 19| 20
30 73X76 | 38 | 50 |G11/2| M48X2 M36X1.5 35 |177.5| 196 | 54.5 | 109 | 19| 22

0421



06/08 1BIAE | BETH T537iE [ BT | DV(P)/DRV(P)...10 B

SR : (%I mm)

- E30i@ (DRV &) ®D2 18126-16

NEIEE
GB/T 810

ERTERERA

T
|
-
\S

H1

-

\‘ SW

1#1220-30
‘g BB

W\ \11 I
L2

1 et HEAR N A1 AR
P

2 NIRESH AEFE hEsH Jo R N

3 WRETEITH

2
2 4 TRERH

#EE| WXH |oD1|®D2 D3 D4 H1 | H2 | H3 | L1 | L2 |SW

6 20X21 15 | 24 | G1/8 | M10X1 M12X1.25 | 10 | 65 | 70 | 28 | 46 9
8 34X35 20 | 29 | G1/4 | M14X1.5 M18X1.5 15| 87 | 94 | 38 | 645 12
10 | 36.5X41 | 20 | 29 | G3/8 | M18X1.5 M18X1.5 16 | 98 | 105 [455] 71 12
12 37X42 26 |37.5| G1/2 | M22X1.5 M22X1.5 |17.5| 105 | 113 | 48 | 81 14
16 45X54 | 26 |37.5| G3/4 | M27X2 M22X1.5 |22.5| 124 |134.5|56.5| 89 16
20 57X59 38 | 50 | G1 M33X2 M36X1.5 26 |162.5(178.5| 80 | 128 |19 18
25 63X70 38 | 50 |G11/4] M42X2 M36X1.5 30 | 170 |186.5| 98 | 144 | 19| 20
30 73X80 38 | 50 |G11/2] M48X2 M36X1.5 35 | 180 |195.5| 105 | 145 |19 | 22

0422



i@ [ e | DV(P)/DRV(P)...10 B BETCH | {BILRE 07/08

FoFRT : (& mm)
- #R3UiE (DVP B! )
: G 1E{Z6-16
m
H i .l
X []
U
[t
o
&
#
w & ‘ NEES
% Ao,/
& GB/T 810
AFF
.. _C — B3
- S T
! ST T
/ ‘ R
B Al **’7I7’H c b
R i ¢ i
! L
o P IXOSBA !
SW
1®1%20-30
AR/ AiEH

IRE R ET:
#GB/T70.1-10.94%%

nXE;F
7 E E SR SFL
BRRENRT WREREIER

B A B C D n E F G H J K L M N
6 66 61.5 10 18 4 | M6 12 24 - 19 38 41 | 285 | 415
8 89.6 82.7 21 | 305 | 4 | M6 12 29 = 35 | 635 | 67 | 33.5 46
10 104 96 29.5 | 40 4 | M6 12 29 = 335 70 | 723 | 38 51
12 109 | 100.5 | 29 38 4 | M6 12 | 375 - 38 80 82 | 445 | 575
16 133 | 1223 | 41 52 6 | M8 16 | 375 | 38 76 104 | 107 54 70
20 177 161 49 61 6 | M8 16 50 | 475 | 95 127 | 129 60 76.5
25 185 170 55 | 685 | 6 |M10| 20 50 60 120 | 165 | 168 76 100
30 195 179 63 79 6 |M12| 24 50 | 71.5 | 143 | 186 | 186 92 115

BE| O P R S T Vv W SW R EE BT

6 1.6 16 OB T7X15 5 9.5 | 185 | M12X1.25 - M6 X 20

8 4.5 25.5 O 2R 12.3X2.4 8 | 143 31 M18X1.5 - M6 X 30

10 4 25.5 OFRE 12.3%24 | 10 | 17 31.5 M18X1.5 - M6 X 40

12 4 30 O 2B 15X 2.65 12 21 36.5 M22X1.5 - M6 X 40

16 | 114 54 OB 19%X3 15| 14 49 M22X1.5 - M8 X 55

20 19 57 O 2B 30X3 20 | 17 47 M36X1.5 19 M8 X 60

25| 20,6 | 79.5 O B 32X3 25| 15 7 M36X1.5 19 M10X70

30 | 23.8 95 O FZB8 34.52%3.53| 30 | 15 85 M36X1.5 19 M12X80

0423



08/08 1BIAE | BIETTH T537iE [ BT | DV(P)/DRV(P)...10 B

TR (#fi: mm)
-#R=0iE (DRVP B¢ )
G 1#{26-16
;[
Y il
U
b
ﬁ
& \ NERE
*‘5 p—— GB/T 810 A
’ Cj ‘ . B d
i

|-

SW
i81220-30

TR A AR
R FEARET:

#GB/T70.1-10.9%

W)

{£710.01/100mn
K BERELIL 0%-8
L

RERENRT MREREIER

ER A B C D |n E F G H J K L M N
6 67 | 625 | 9 19 | 4] M6 | 12 | 24 - 19 | 415 | 43 | 285 | 415
8 90 83 19 | 31 [ 4| M6 | 12 | 29 - 35 | 63 | 67 |335]| 46
10 103 | 95 30 3854 | M6 | 12 | 29 - |335] 70 | 72 | 38 | 51
12 112 [1035] 29 | 41 | 4| M6 | 12 | 375 - 38 | 80 | 84 | 445|575
16 132 | 122 | 41 | 51 | 6| M8 | 16 |375| 38 | 76 | 104 | 107 | 54 | 70
20 176 | 161 | 48 | 60 | 6 | M8 | 16 | 50 |475| 95 | 127 | 131 | 60 | 76.5
25 186 | 171 | 55 | 70 | 6 | M10 | 20 | 50 | 60 | 120 | 165 | 169 | 76 | 100
30 195 | 180 | 63 | 79 | 6 | M12 | 24 | 50 | 715 | 143 | 186 | 190 | 92 | 115

BZE| O P R S T % w SW R E EIRET
6 16 | 16 OB 7X1.5 5 | 64 | 10 |M12X125| - M6 X 20
8 45 | 255 | OFE12.3%X2.4 8 | 93 | 258 | M18X15 | - M6 X 30

10 4 |255| OFE13.2%24 | 10 | 10 | 245 | MI8X15 | - M6 X 40

12 4 30 OF/E 15X265 | 12 | 21 | 315 | M22X15| - M6 X 40

16 | 114 | 54 O B 19%X3 15 | 14 | 41 | M22X15 | - M8X 55

20 19 | 57 O 2B 30%3 20 | 17 | 44 | M36X1.5| 19 M8 X 60

25 | 20.6 | 79.5 O B 32X3 25 | 15 | 62 | M36X1.5| 19 M10X70

30 | 238 | 95 | OFE34.52%3.53 | 30 | 15 | 72 | M36X1.5| 19 M12 X 80

0424



